
AH-VtSanslCC_XIIt20
B.A. sth semester (Honours) Examination, 20rg (.BCS)

Subject: Sanskrit

paper: CC-X[

Time: 3 Hours 
FuII Marks: 60

The figures in the margin indicate full marks.
Candidates are required to give their answer in their own words

as far as practicable.

ffiannE*"#J;fi-{-{trf?t qf,m qts s

a_, &S -TETT{III:

h,-futrt
(a) q-s.qBiflTe fu-qrq {rESrTq?

<il$T"lq@ {GR {-fi4 <;TF fr mpflxr
(b) Ttrfr es tur?

<JlsT"t"l'lrq ffi' 5'1-g TWT Ell
(c) s+B Aqq etreHqq - fr, g,, 1or, r

R FTIFI fr< Wo.o-O +Til _ fr, q;, e"fa I

(d) *1 llq eTRi*-sT{:? l*-*q erqfli sTfti-sw?
Tttrfi< mr <tffim-{ qwt ft.r

EH<jrfrl el\rrf{ m? vE{r< qm{ fisr
(0 Eqrfi{ulqlT€ qt qrrT"ffi:? fu r+qrrql

Trts-<"l'ft(Q '{B' <EF ft cERflxl BnE<qq-{q.k-< qtr{ akf{ $(-<tt
(e) qttn'prqma gfeRfd m.trT rivrZ

<rf$-<"p.llcq 1ki {wT frl
(h) fr:, wtrt qf,qi: H6ri f,enqd r

F q<( Effil< q-Tet cqmtt

(i) vqsrnns H61i @U
{t2mrf,c.fT q-R{ frl
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'q'-frrT[q:

'?t'-futt

11; ffigsr: yirm H':? frEl<-dgil: cm qrd fr B m:?

ffiTAK dcotst m? mXa< dfrq KE <it"itt fr ftr
(k) Efr: +r? qfrhq gtu:?

{t ftr ${ erflr< 1fraEr <*r

G) ffiqFr: $':? tf eq s<r6{ur{

'FtrtfuE' ftl mtr* fr Bqrq<q qtcqz

(m) 'ssfu'ger* q;frr;T{ erqfir+rxrqrq:? qqq fr-re:?

ffi' *|qF crn qrcf q-<lftvl< wF ? fr e< Rerq{q r

(n) f<sqrss *-qsnqqTqf : qk?

E-q q:rr6r'< ur<E qqf ft frr

2. eiq:f{qtg q{+g qqrmr{ qgqfw-{rfl€{,i tqq.r tg c{Ag ,fudg{FRI qqrtq(r 5x4=20

ffiFto ansTr< B-c{r F Ftzar FFl? eBs{ Es< qN r ur<F< !r<l' f7Atr UE< ceeviTtr cq-<-+t{A

qT6+ ftrc qc< 
t

(a) e.de-ffi+{s e-sri f{qrq-d I +qrTg o{c-s-flrqT trsfu 
r

$t'er<DfiLT-{ q-fi"t fi-fi"tt sr<lr ml{ mq wq(+t'er<ufr* q{?

6y urwf: fi? ofr q t r

Bqqdft s ${Fr

(c) ffi H6ri t<*E drqrcpi fersor

Bk'RffplE 6rwtl.|_cT< q-<4 \s cw cfl.{ I

(d) qqqtr 'q6 sn'l
qetqq-1re< <il?lil $r<t qq T"It'r

(e) {imsarq 'g1o Eqrqi frIirffiai[q{q'1

qefffi 4s& $t"llt $(-<t k<-{ ry.lmt k\"-BxqfeFD' I

(0 Sqwst (1isrypffi';

elqqqq <rt".llT $IKf q(q]r<i1ny4'l
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3. er*frffeg uqig H*RsE esl sf,i tq( : r0xz=20

ffiRE auruf{< {c$ r+ trw Kfr.oc$<t{ +.c<I s

(a) €Frud q'q f*.q,? {ilEtEtui qrqdiq u-+ntq: rqqfdt1r'€rqqTmi rqqer(sril-q:'- Sil6roi
tqcrff$sr

ffiqf ftr EqRT"lcqlL{ {lqce6-{ eFFK.CgT? c("It€ r w:etTGqfr rfT+Y.tq qffi s'- 4ffi
Bqt{<"lcq frlq $LTtr

G) Hcrq{r<s e[sf: E6? ,r$-d{|ffi T{i1fl vrrrur€r *ffir+rq: cEq+dtqr

qxlq rtc+.{ qqf ftr vd'ffifrre< wttt<c6t rltcr{ cqiiRvIst fi{ts I

(c) tfr ilq sr€+q? rq okEqq? ct<rEwi qq-Errurwr 6s 3ffii frsqero r

Bqcsf{ fr e +seror<? Bqlq{6t cer-T E"rEBftr-< gqffiFrgl crifi1

1a; wvffig*gisc.-r@ 3pffiTasqrs{q d"RreqT,r{ sTretqrrf, I

stqR-s {rq< omq"ff,+ q-{r-?Mt< qrt6n-{ ?<ftErefr qr(EID-{t sr{t I


